
                    
      ৯ম  

                                                   

          ৫০                                      –       ৩০        
 

১.                                              A, B, C       

                      2, 5 ও 7 ।   

 )                 ?  

খ)                          খ       ।  

 ) A ও C                                               ।   

ঘ)                                   -    খ       ।  
 

২.                                               ও।  
 

 
 

 ) ভ    খ            ?  

খ)                                   খ       । 

 ) ‘Y’                                                    

     ।  

ঘ) Y ও Z                                      Y ও X      

                                      ।  
 

৩.             15g                0.33g          , 4g       

    10.67g          ও       ।  

 ) C-Cl               ?  

খ) MgCl2                   খ        ।  

 )                                         ।  

ঘ)        90       ভ                  -                 ।  
  

৪.                                           ও।  
 

    

 )                      ?  

খ)                                               খ   

    ।  

 ) ‘B’       ঘ                 ।  

ঘ)                                                     

       ভ      খ ও ।   
 

৫.                                                  

                        ।                             

                                 ।  

 )                             খ      ? 

খ)                              খ       ।  

 )          ∆H                   ।  

ঘ)                  ∆H = - 890 kj/mol     C=O        

        ভ      খ ও।  

৬.                                        ও।  
   + 

        

 )         ?  

খ)             খ       ।  

 )            ঘ               খ ও।  

ঘ)                         ভ                      

            ।  


